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Hier$Video:$Flug$nach$Gran$Sasso$



Hier$Video:$LNGS$und$Fahrt$in$den$Tunnel$













Warum$ausgerechnet$Xenon?$

•  Edelgas$(inert,$nicht$reakJv,$
Elektronen$driLen)$

•  Guter$ScinJllator$(Lichterzeuger)$
•  Hohe$Dichte$(Selbstabschirmung$
vor$Hintergrundstrahlung,$große$
Targetmasse)$

•  Trefferwahrscheinlichkeit$für$
WIMPUStöße$proporJonal$zu$A²$
(Massenzahl)$
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Warum$ausgerechnet$Xenon?$

Wimp$ Xe$

Wimp$ Pb$

Wimp$ He$





+$4.5$kV$

U$16.0$kV$

E



E$
Rec$ Zeitlupe$(12!≈20!+2)$

3(4&)=567#8&!⋅4&$
567#8&!≈1,74!((/92$
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Ein$WIMP$streut$nur$
einmal$(wenn$überhaupt)$



Ein$WIMP$streut$am$
Atomkern$

α<,β<,γ<Strahlung$an$
der$Atomhülle$



Untergrundstrahlung$

Eichung$miEels$Neutronen$



Nach$Auswertung$von$100$Tagen$Messdauer$

3$potenLelle$Kandidaten$

bei$durchschniElicher$
Erwartung$von$2$
Untergrundereignissen$$ Er
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